AYZEIZ AZKHZEQN

1. NPOrPAMMA A>K1
STAGEPEX
v = 50
METABAHTEX
AKEPAIEZ: o[v], BL[v], vI[vl, t
APXH
F'TA L ANO 1 MEXPI Vv
ATIABAZE o[ L]
ATIABAZE B[]
viu] <= a«[] + B[]
TEAOZ_ENANAAHYHZ
TEAOZ_IMNPOIrPAMMATOX

2. NMPOrPAMMA OVOMXTX
METABAHTEX
AKEPAIEX: L
XAPAKTHPEX: «[10], B[10], emwvupo
NOI'IKEZ: PBpebnke
APXH
A v ANo 1 MEXPI 10
FPAYE "dwoe ovoux"
ATIABAZE o[ L]
FPAYE "dwoe emwvupo"
AIABASE B[L]
TEAOZ_ENMANAAHYHZ
FPAYE "dwoe emwvupo yLx avolntnon"
ATABAZE €emwvuuO
L <-1
Bpebnke <- YEYAHZ
030 L <= 10 KAI Ppebnke = YEYAHS EMNANAAABE
AN B[L] = emwvuuo TOTE
FPAYE "To ovopx Tou eLval ", ofL]
Bpebnke <- AAHOHZ
AAANIQS
L<- L+ 1
TEAOZ_AN
TEAOZ_ENMANAAHYHZ
AN Bpebnke = YEYAHS TOTE
FPAYE "€ Bpebnke To emwvuuo"
TEAOZ_AN
TEAOZ_IMNPOIrPAMMATOX
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3. NPOrPAMMA OVOMXTKX
METABAHTEX
AKEPATIEZ: L, K
XAPAKTHPEX: «[10], B[10], y[10], emwvuuo
APXH
A L ANO 1 MEXPI 10
FPAYE "dwoe ovoux"
ATIABAZE o[ L]
FPAYE "dwoe emwvupo"
AIABASE B[L]
vl <= " "
TEAOZ_ENANAAHYHX
FPAYE "Owo€ EMWVULMO YLX avaxCntnon"
ATABAZE €TwWVULMO
K <- 1
A L ANO 1 MEXPI 10
AN B[L] = emwvuuo TOTE
vYIk] <= af1]
K <- K + 1
TEAOZ_AN
TEAOZ_ENMANAAHYHZ
AN Kk = 1 TOTE
FPAYE "€ Bpebnke To emwvuuo"
AAAIQX
FPAYE "Bpebnkov To MXPXKKTW OVOUXTX'
FTA t ANO 1 MEXPI k - 1
FPAYE y[L]
TEAOZ_ENANAAHYHZ
TEAOZ_AN
TEAOZ_IMNPOIrPAMMATOX
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